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ANOVA

7 % 5% (Analysis of Variance, ANOVA): £ &8 k40 R Fl 4
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## [1] 13.75 12.75 18.75 24.50
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Group 1: X11 Xim
Group 2: Xo1 Xon,
Group g: Xg1 Xeng
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BA BT AR RO Ja p AT R 6 R 77 X
Xij=pi+ej, i=1...,g8, j=1,...,nj,
ZEZ e~ N(0,02). Z ENH XS £
Ho: pn == pg. (1)
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BUH B S MR R RL . HTH 611, RN

t.test(x[1,]1,x[2,])

##

## Welch Two Sample t-test

##

## data: x[1, ] and x[2, ]

## t = 0.61721, df = 3.5687, p-value = 0.5743
## alternative hypothesis: true difference in means is not equal to O
## 95 percent confidence interval:

## -3.721086 5.721086

## sample estimates:

## mean of x mean of y

## 13.75 12.75






Je v A 6K st R 6945 BB R A M3 AR RATA R
& p-value2s 4= T .

(1,2): 05743  (1,3): 0.03968  (1,4): 0.005465
(2,3): 0.00206  (2,4): 0.007022  (3,4): 0.05144

BT VAO5Y% KF T, FIEL U1 = M2, U3 = 4 - #£99% 7K-F
T TR iy = po, 1 = 43, 43 = pa-
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Pp ML = SO ARTFY 4 ARERYEE + K E.
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At BATTAE BAT UARIE -

g nj
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S2/o? ~ X%_g. (4)

Tt T EF A BRBEALIAE, By = = g, FIA AL
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T @A EF A KA S5/0? ~ X2 -
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Ko={F>Fi_o(g—1,n—g)}. (6)
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## Analysis of Variance Table

##

## Response: y

## Df Sum Sq Mean Sq F value Pr(>F)

## group 3 348.69 116.229 16.361 0.0001537 **x*
## Residuals 12 85.25 7.104

## -

## Signif. codes: O '**x' 0.001 'xx' 0.01 'x' 0.05 '.' 0.1 ' ' 1
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## Analysis of Variance Table

##

## Response: y

## Df Sum Sq Mean Sq F value Pr(>F)
## group 4 36.467 9.1167 3.896 0.01359 *
## Residuals 25 58.500 2.3400

## ———

## Signif. codes: O '**x' 0.001 'xx' 0.01 'x' 0.05 '.' 0.1 ' ' 1
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ENERARREZ AL .

(i) Xijts -+ Xiing

XEj=1,...,r,r=1,...,s.
i FHEAE, RN TABRERIEHRLEES)H . B

Xijts- - -, Xijny ~ N(pij, 0%)



B 2 g dE 6 R X
Xijk = pijj +€jjk, 1=1,...,r, j=1,...,5,k=1,...,nj
ZEZ e ~ N(0,0%). HATRK S8 FAEE .
Ho : pi1 == pus. (7)
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Thank you!



